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Instructions - gyfleyenyser

. This question paper contains 30 questions in Part A(General knowledge) and 140 questions in
Part B(Psychology, law and Police related subjects)

@eallarrggraiey ued ‘o' Quigigfalsy 30 aflenndasenic wppnb LG ‘o
2_enaflwed, FL L th LoPRILD &neushgienn Fibinkgonswena (140aNsundseir) o sireme,

. The type of question paper (A, B, C or D) should be shaded in the answer sheet using blue or black
ball point pen. The answer sheet without shading the type of question paper will not be evaluated.
@ps alleangsnefen aiamaenui(A, B, CorD) n‘f?sm_(gg,nspﬂai: DABD @GN rev Gt FB hevid
() iy Bp ured Lrller Guerreneud Glarem® siap® Tewr s Bl 1 ath.

mnﬁnﬂﬂc&rmmmw LI @t g!;l_ﬂ'ﬁﬂl;l_mﬁi. .&m'};s aﬁmc_;ig.'rm'r: rD_@:_]! o iom i &,

3. Writethe Registration No. using blue or black ball point pen at the appropriate box inthe answer sheet.

aflenL_ggmeiled, Beuih () s@pLiy o uned umifler,. Guertenaisd Glameii( L1Ba) sTeimenass
2sHSNW SL_L_GHe e10pH), 19ew i ent ' Layib.

. Answer all the 170 questions — 170 Gasirafla e @b alenL_weflda Gaiein @b,

. Each question carries half a mark.

geiGlaunes Gasails @b Hienr B LIG LG aipRISLILIGLD. Y T A

6. The answers to the questions should be shaded in the relevant eirlces using blue or black ball point pen.
aflent_aener fevth (1) #sLin) Bp Lined Lmiien’ Guentenaid Clanes®) sibs ks o L fisahc
ulent Gl ab.

. Foreach question only one answer is to be chosen and shaded.

0 aflennalpE eos aflen_enw o GG i ent_ Bi't_eyih.

8. Forwrong and improper shading, no marks will be given.

saaupie UL §lyarnGen, suydse Bmssnaa QeisrGar oks Gaanailds
(0B 1G)Liss Blewr_g5m).

(o

=

9. Write the Registration No. in the question paper — ey sredwanens Gasiralls s rafled ST(LPS@LD.
10. Write the S1. No. of the OMR answer sheel in the question paper at the appropriate place.
OMR oflent_ggnefleh sisiwenenr Gasirallgsnaflsh e1(psofth.

11. Ifthere is any printing error, or error in page No. in the question paper, the same should be brought

to the notice ogalhc invigilator immediately,

2 10g) aflennggrefled gGsemiid derts VepGuin, Ldsniser sfluirs @avevrail L rGeur,
Bupunieaurarfiib gpenpuilt’ @ sfwner Casmealssrenen’ Qunmns O TEIT (@0 L0 TR
amfgowwéwiu-@ﬁm-

. Allthe questions are bilinguial except language questions (English & Tamil).

LML L@ S (w8t op b si8ith) Gasrallsenen sallis s sjenerss Gasadsepib @ pen(p
Gumflsefayid Gan® s Gsrersy,




PART ‘A’ : General Knowledge
| S RO e
uGs ‘9’ : Gung oy

A) Kumar Gupta

dr %n‘l&‘pla

A) @ gLsT
C) swpsBr gLz

. The founder of the city of Madras

A) Dupleix
C) Sir Thomas Roe

. Gacienen paens BpeTwei

A) g0
C) &t amoev Gon

. ‘Sathi’ was abolished by

A) Lord Hastings
C) LordRipon

- '8 wepeow gifdgen

A) Gamavig miev ey
C) Mirseir (foy

. The birth place of Renaissance was

A) England B) Germany

. LpieiFRufieT Snwsin

A) @miBeuris B) Ggiwed

. The West flowing river of India is

A) Narmada B) Krishna

B)
D)

B)
D)

D

—

B)
D)

=

D

—

B)
D)

C)

)

)

. The Gupta ruler who was hailed as Indian Nepoleon

Chandragupta 11 Vikramaditya
Skandagupta

- @BPw QpLCunelwsin steiy Lsiplin L @UE 0 Fwmeni

@uemb spBuEs aldowrBewut
SVaHS GLUIGT

Robert Clive
Francis Day

anuil’. Renerel
WRorenfen G

Lord William Bentinck
Lord Curzon

aflsbaflwih Gluishng s 19y
airaer ALy

Italy D) Russia
@ssnad

D) papwr

Godavari D) Cauvery

@BRunelsr Gom&e Limuyth BEwTED

A) piwsn

A) UttarPradesh
C) AndhraPradesh

A) 2881 Bssb
C) p@mioGssih

B) &@ayentn

C)

B)
D)

B)
D)

Gangmau D) &rGauf

- The important sugarcane producing state of India is

Karnataka
Kerala

- @pBurelar upsPw amibly 0. puSS Cadius wmfleo @D

SABTL_&HT
Bagern
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7.

For becoming a Lok Sabha member the minimum age limit is years
A) 21 B) 25
C) 30 D) 35
. ésaenal 2. QleTT JQUSDETT GADBHULEF QUG e H,ETBIBET Y (HLD
A) 21 B) 25
C) 30 D) 35
. The number of official language in Indiais
A) 14 B) 15
C) 18 D) 20
. @dRwrallsd pymBaddaiiu i Cunfaeier sisrenflsena
A) 14 B) 15
C) 18 D) 20
. Money Bills can be delayed by the Rajya Sabha only for
A) 30 days B) 20 days
C) 14 days D) 7 days
. PBwlsngndae wrfle semanlamnsy sthsemer B @ wL G SToGUILGESID 7
A) 30 prlasdr B) 20 gpnl s
C) 14 prlaeir D) 7 mm e

. The Governor of a state is appointed by the

A) People B) Parliament
C) Chief minister D) President

. @@ wiflasRer oy esnen BHlublis

A) wéser B) wmpremiwsiipid
C) apged syenindai D) @uywoss gensvart

. Price Discrimination is possible only in

A) Duopoly B) Oligopoly
C) Monopoly D) All the above

. aflenew Gugib sr @ge snesiiLRieus

A) @meuri uppmiflento
C) wppgufenn D) syenewdgin

B) feCBauni gppmifenio

. Too much money chases too few goods refers to

A) Cost push inflation B) Hyper inflation

C) Demand pull inflation D) Profit push inflation

. IBEOUQUTeT Uesiih LA&S GDES LIGTL BIST FI0550US

A) Gloswey o fg uewr afdsib
C) Gagenar @upLiny Lenraidsih

B) flens Gausl) uemaldsih
D) @enr o gg vewaldsin
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4. (I

. Production refers to
A) Destruction of utility B) Creation of utility
C) Exchange value D) None of these
. S PUSE eTeTLIg)
A) LwsTum g e oyl B) vwsirm’ ent 2 (HeUNd & HeD
C) wappy wBiny D) sigiayiflsvenan
- The demand for the factors of production is
A) Direct Demand B) Effective Demand
C) Derived Demand D) Aggregate Demand
- 2pusBdanen sngenlaeichr Gxena STENTLIGS
A) Cprys Gaeneu B) 2 m®s Goeneu
C) Qupiin’ L Gzenen D) g GOwniss Gaenen
- When goods are imported for the purpose of export it is called as
A) Foreign Trade B) Home Trade
C) Entrepot D) Trade

- IppIoBEQaeT Qi@ sdr @pi@id Qediwdu. e MR erer
SYDPESLILIR LD

A) Geuelpn @ aSwmiimmb B) eamm’  edumiimmb
C) wmy IPDIE aTwrmgh D) eSwriimmn
. All the items given in the adjustment will appearal —_______in the final accounts
A) Three places B) Two places
C) One place D) Four places

. QuiBé sewdGaer suni Quiiiu@esds shisd Hgeis STCIBUD Djenens g

@) gmih — Gzmempin
A) apsiip @)_rizefed B) @w @ sisefa
C) 9@ @rib D) mrsing @ misehs
- A Hollow metal ball carrying an electric charge produces no electric field at points
A) outside the sphere B) on its surface
C) inside the sphere D) ata distance more than twice its radius

. hleigyn i th Glupmp a.girafpm Gamens Lgg e aEs0 Laraluiie Wil jevgens
IPL@EHTH 2
A) CanargPer QouafGus
B) @anerg@enr Guopimnieh
C) GansngBeir 2 airGer
D) sz yr13@Rer Qsior i@ Guost a_siver gr0sMed
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18. How much energy is released when one amu is wholly converted into energy 7

A) 1 Mev B) 200 Mev
C) 931 Mev D) 10%Mev
18. @ amu flenpurens HDOTH wappll u@bGuis, Qeeflall GL@h HpbpadleT sieTay
A) 1| Mev B) 200 Mev
C) 931 Mev D) 109 Mev

19. Among the following, which atom does not contain neutron ?

A) Helium B) Hydrogen
C) Oxygen D) Nitrogen
19. (Aereugseuamauppisin, By grer Geveurs sigmf 15l ?
A) afaflwih B) smapi mggeir
C) spdedges D) enpiusmeir
20. Which gas is used to weld and cut Iron metal ?
A) Ethylene B) Ethane
C) Methane D) Acetylene
20. @by o Gensgeng @)enamds HDIL Qeut’ L LIETLIBILD U §15 7
A) eg@ebar B) =&Qzer
C) 1£5Bzeir D) &8 yeSar
21. Biochemical mutation is reported in
A) Sorghum B) Cicer
C) Neurospora D) Drosophila
21, 2.u@iGuf P wipph GE® sev@lg s L g
A) Gememih B) ensai
C) ByCGorevBumgm D) 1. GonGanifsveur

22. Which of the following is a C4 plant ?
A) Maize B) Sugarcane
C) Rice D) Amaranthus

22. 9erasmeusmaippyer argl Cy gaaugth 2

A) waasnGenend B) s@ibLf
C) Gpe D) siwonpgev
23, Who first developed Vaccine for ‘rabies’ in man ?
A) Robert Koch B) Joseph Lister
C) Louis Pasteur D) Stanley
23. welisfe Gulsv GBrils@ wpser pselsd FEULTL st @t
A) @onruil Gang B) Geonat eflavii
C) syl umevir D) evGiaald
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24. The most abundant ‘Green house gas' is

A) No, B) Oy
C) Coy D) So,
24, QuEBLbLITETENIOWTE STeLILIBILD seiennmy. oIF amy
J\) NU} B} 0‘
C) Co, D) So,
25. If two straight lines are perpendicular to each other, then
A) myxm,=-I B) mxm,=1
C) mj=m, D) m;=-m,
25. Queni® CpiGan@asr geanmétardn Gon@ag srefsy
A) myxm,=-I B) myxm, = |
C) m;=m, D) m=-m,
2 }’2
26. The length of the semi-major and the length of semi-minor axis of the ellipse —— + —— =l are
169
A) (26,12) B) (13,24)
C) (12,26) D) (13,12)
26 x2 + y2 1 5 B @
- oot —— =l adp el L g@lar ojeng Glpl L da wppith yeny Gopds Berdiser
144 169
A) (26,12) B) (13,24)
C) (12,26) D) (13,12)
27. “Quomfl emlps” srsivgy Gundpliu@uet
A) Bgbugprger B) GsaCrwiiumainemi
C) @erps @y sgsarmd D) gn. 9. Gagnsrenen

28. @poliygremgens Bupplweani wai 2
A) @emmigigoavsne srhly B) s.opiiiysveur
C) saiaumgiyaa D) ar@ib ysvaui

20. A Sonnet is a short poem writtenin —

A) 14 lines B) 10lines
C) 12lines D) 7lines
30. ‘Euphemism’ istheuseof —__in the place of harsh words.
A) Offensive word B) Inoffensive word
C) Eponymous words D) All the above.



AT 7. A
PART ‘B’ : Psychology, Law and Police related subjects

UGS 9y : 2 raflwed, FL 1 th oPMIh TSN FIDOFSLILIL L6y

31. To whom the original post mortem certificate has to be sent by the Medical Officer ?
A) To the Judicial Magistrate concerned
B) Concerned Police Station
C) To the Inspector of Police
D) The Chief Judicial Magistrate concerned

31

wosggien sigyeusui 19Gas LR Gangener o enenpener wmEE e Geusm@id 2
A) mibwpsin’ . gopelus BFwetn sHant B UITE iR (%

B) sbwpgin’ . snaus HevewwsBnse

C) syuiaumani spaiis 61 dh

D) sewew gppalus gD Hart syanisens s

32. A Police Officer can investigate a non cognizable case

A) On orders from Judicial Magistrate

B) On the orders of District supdt. of police

C) On the orders of the Station House Officer of the police station
D) On the orders of the District Collector

32, 9w araeh gy 19y 856 s GO FDDFSUIUL L Qpdiend WTHenL
ey e Ljevelr aflFrgencmr Qaiweumih.
A) BB dgien mHarT B) wreu’ i sneus seirsmenfiumeni
C) srousd Revevw Qumpriy sgreusei D) wmeul L TN

33. A victim of crime can lodge a complaint with
A) Court B) Superintendent of Police
C) Police Station D) All the above

33, wnBdstiuc L Ui Bpdacin_ G disafle yamt Qadiwemb
A) pBwspid
B) sneuchgienp sesmanefliimeni
C) smeucd Hevevwith

D) Gupaen seerdgg @) mismefgyib

34. In a complaint of theft of an article, when value is less than Rs. 10/=
A} The police should Register a case and Investigate
B) There is no need for the police to register a case
C) The police can refuse to register a case
D) The affected person can take action directly
34. 9@ BEl@ yorie esumi 10 wRlnipéag 80y o sirar QLimgmer B ® Guresme
A) srasbgienp aupd uBey Qedig FLauydos sTBés CoasmBih
B) amausigienp aupé@ ey Qadiu Gousngur syeruwih Bavenay
C) anausvgieop anpde uBey Qedw wpédssund

D) wn@ésiiu’ an Grmywns pLang dena erPéssumih
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36.

36.

37.

37.

38.

38
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Properties found on the corpses of unidentified persons, who have died of natural causes,
shall be taken charge of by the police and sent to which of the following authority ?

A) Judicial Magistrate B) Thasildar

C) Village Administrative Officer D) District Superintendent of police

Quipena snyswriiseansd @mpa Gurer syeni_wemb ClgMuirs (Neniisefler Grogyeirar
Glandgidgaensr snaish grenpufeni analiuhmsl Wi b e eais Carsn@
A) ERGgenm B@eut B) e’ inl Bwi

C) ®gmo Fieurs sgyaci D) woran’ i sneus seimarendliunert

Can a Head Constable or a Constable declare an assembly as unlawful ? If so/not, under
what provisions ?

A) Can declare-P.S.0 703 CrPC 36

B) Is not empowered-P.S.0 703 (d) r/w 129 CrPC

C) Can declare-P.5.0 703 CrPC 97

D) Can declare under emergency P.S.0-703 CrPC 147

FG wwvens ST GIT Hg SO ETaIVGIT U Sl LFng F15 1 aflGumsinmen &'t tb
arsirp) eflenbljea Caiu sBanob Cansim_aupr o oyub/Eemev, srerflsd s1hg LAfleysefair g 2
A) b, s .oy 7103 5o 36

B) s@ammb Qansim_eugsvavi amf.y. 703 (d) @.5.5.129

C) wyib. ar.d.ay. 103 @.p.a 97

D) . myeuer arwmisaies sr.d. g 703 @.5.4. 147

Is a Head Constable manning police out-post empowered to register E1R ?
A) Yes can Register ELR B) Make G.D. entry and report to SHO
C) Only in Minor cases D) Only in Grave Cases

ypsanaalii O Qumpnlgysiter i ensventod @reusuit g gasush gyldens (FIR)uBay
Glawiu B smmb Canedr_sugr o

A) b, 1p.s. . UBey Qedwenih

B} Qungs pr’ @gpinieh uBey Qaiig Qaneu® snarsy Blensvw Sjgyeic e oyfdma
Qavrusr Causir@ih

C) By anpa@aeale ol Gk
D) Qumriigpphisaiies i Gib

Station crime history consists of how many parts ?

A) 2 parts B) Onlyonepart  C) 3 parts D) 5 parts
anaush Blensuwd @GHp aIwTY TS LG E ser Glaneim_g 2

A) 2 ugBsdr B) 961 9w ua®

C) 3 ugPasir D) 5 ugBadr
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39.

39.

40.

40.

41.

41.

42,

42,

43.

43.

In respect of charges of tortures or death or grievous hurt caused by the police the senior
officer receiving a complaint should after a general enquiry, report the case at once 0

A) AD.LG. of police B) A Superintendent of police
C) Inspector General of police D) Revenue Divisional Officer
S BUBEG R BPreuens G, tngewIh Seevg LBETUGLT e Glenpuilenane

o e maEELILIL LS ST Lj&mi eugomuilen sjeng G5 o wi B @i QLITgIQITeT G
aflengenet FLABNG 2L @nguis S wndE SAImalis GeusimHid ?

A) sreue Genps GISTH genevall B) sreusw seiranesiliiuimeni

C) snaue genps Gensvar D) Gam’ i g Swmeri DU & G (%

The personal files of the Head Constables in the Taluk police are maintained and kept in the
custody of

A) Sub divisional police officer B) Superintendent of police

C) Deputy Inspector General of Police D) Inspector General of police

FIGIEHT Fnaus dlenavur FEENLDd FTaUGTHEHENL_ U Lo T QarliFeT WIHEnL_ L
Qunpnied eardg ugmeMasiL@RSTDSE ?

A) 2.0 GarlL sreusy sBamh B) s&meust evsramassd|LILImeTT

C) srausy gleand S0 sensualt D) areush geops Fenaval

Who in the village is provided with a badge with inscription “Village Police” ?

A) Police Constable B) Village Head man

C) Thalaiyari D) Karnam

Ramphisaley eraimae " EITD i "ereinn afleeney anprisEtLC GeTengl ?
A) TaURBEHES B) oo seneeusHE

C) senevwnié@ D) aiewsBnsG

Which P.S.0 states persons whose finger prints are to be taken for record ?

A) 802 B) 803 C) 804 D) 801

s1hE HTaus Fleney Henewm red, sTaUiEEBELL aIlTe LR eysener 2, EBDATE 1P &a15
Qansrer GeusiaBib e16iT) S DIFDS! ?

A) 802 B) 803 C) 804 D) 801

The possession of lathi by constable during large assemblies such as festivals, processions
and the like is mentioned in PS.O.

A) 375 B) 537 C) 735 D) 374

Bmedpraser, saTiRICEISET, (Bl Gunetp GU(Gh &a L m1HeT G (PILD FLOWIGHSD

sgyauafer Guilsy SLOITES CILIBILD HTUGTEHET QUPSHSELOTET BLg.HenaT eauggd Olaerer
Gaushi(PLb sTex Fapild HIT. 6.2 GTEHT.

A) 375 B) 537 C) 735 D) 374




45.

45.

47.

47.

48.

48.
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. Use of handcuffs to the accused is dealt in P.5.0.

A) 641 B) 640 C) 645 D) 650

. aPéE eselenig Cur@ss Ll GEUIIELD FUaUG) Flene) I,ENeRT STHI.

A) 641 B) 640 C) 645 D) 650

Police officers are forbidden to issue one of the following to private individuals

A) Copy of ELR. B) Character certificate

C) Copy of search list D) Witness summons

BpaeimL_auDmieT sTens gefluniisendE apria Hnais oBamisst gel_& Qaviuiul Gsrarart ?
A) W gaaw IpPdma paw B) wsinty eneyilsgp

C) Ga@as UL gws FEs D) an Raefler syenpliinensnt

. A person who is arrested by police should be informed of the following

i) His grounds of arrest
i) His right to be consulted and defended by legal practitioner
iii) Source of Information leading to arrest

A) (i)alone B) (ii)alone
C) (i)and (ii) only D) (i), (i) and (iii)

. enggl QEwlILl L FLGSES LTSTaIpUmalRe T upm dp GousmEn

i) wyeueny eag QeliwiiLil L sHaTet FMIGRILD / &1 EI & 6T
i) aupdapesens sepsTdia) Quiicugpanen sl 2 Menin
i) enag Qi o pallur paaucller gpegens

A) (i) @b B) (i) @b

C) (i) tppub(ii) o @G1b D) (i), i) P gpsipib
Appeal against acquittal in a case is decided by

A) Superintendent of police B) D.1G. of police

C) District Collector D) State Government

aPsmaurear alpdfe bgmen Guagpenpui® CFwauamsh Bionefiiiug wri ?
A) sreusd sefmsmenfiiiment B) @meust gienp SIenenTgBenavai
C) e’ L syl Bwi D) wrflev SoenmsLD

‘Q’— Branch deals with

A) Idol thefts B
C) Extremists D

—

Accidents

Police Administration

—

‘Q' - Afadlar Gasencw
A) Rew Bol Gaer UpBlug B) afuggiasr L wig
C) BalgaunBaeners seameniiug D) ameusy Biteunaid Lipmws



49,

49.

50.

51

51

52,

52.

53.

53.

54.

Who conducts the examination for selection of IPS officers ?

A) TNPSC B) UPSC C) BSRB D) RRB
@B sreudd el yBariamerd CaifCs®agn Caiesemern pLgaiaug wmi ?
A) y.ereir. 9. e B B) u).19.e160. 8

C) 9. ereiv. gy .19 D) ayi.ayi 9

. Police Personnel Information System (PPIS) is maintained by

A) Modus operandi Bureau

B) Tamil Nadu Police Computer Wing

C) Crime Branch Criminal Investigation Department
D) Special Branch Criminal Investigation Department

Fneush Igyeunisaier ussligpenps gaassamants (PPIS) urmodiiug

A) Qewe wpenm Fnitbd B) sfippn® smeusy senflest) (Tfley
C) @ppidfey @opl yeniivg sieop D) seflluife) gppl yevarmies sienp
Final report is prescribed by which section of Criminal Procedure Code ?

A) 173 B) 154 C) 82 D) 436

@B sfsens @op elengensnr (pepd g ehs Malsr 8p
FpuEEsiu’ Gereng ?

A) 173 B) 154 C) 82 D) 436
Sardar Vallabhai Patel National Police Academy is situated at

A) New Delhi B) Dehradun C) Hyderabad D) Mussooree
Figmi eusbeuLimil LG e BgRw Sraie Fipsib yeniopgieiet @)L to

A) ya Qcved B) Ggn@er C) evamsarung D) upGani

With whose order, a police officer can investigate a non- cognizable offence ?
A) Judicial Magistrate B) Deputy Superintendent of Police
C) Thasildar D) Superintendent of Police

srais HBsrM ungeLw gyeerie Gullds 1Ndad aming GPPSP 185 Ljeve
aflergenemr Gediwsvntd ?

A) gppeflwe FHaT B) sneush gienentd semamenilliumen

C) eul L meRlwri D) smeush sewrsmesfiliLment

Within how many hours, arrested person shall be produced before Magistrate excluding the
time necessary for the journey from the place of arrest to the court 7

A) 12hours B) 48 hours C) 24 hours D) 36 hours

. ag Qeiwiul L @t esg Qedwiiul L G sRa@Es fRwSpEBHG A pss

ey Gpipgs Gpoib peflidg sidseen wanll GprsBpGsT GHpTlusd FRaIT wpet e
u@dsLiu_. Geuew(ib 2

A) 12 wewfl B) 48 wenfl C) 24wenf D) 36 wenf!
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56.

56.

57.

57,

58.

58.

59.

59.

|
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. The appointing authority of Sub-Inspectors of Police is
A) Dy. Superintendent of Police B) Superintendent of Police
C) D.I.G of Police D) Director General of Police
2 gafl gpiieunerisensn Funnenth Qaviuh syBanmb Qaneim e
A) gievewr snausd &ehrarendliLmeTit B) anaus seimsrendlumend
C) smeusd g & & i D) aresh greop Quid@pi

A Police Officer, who is on compulsory wait can avail joining time to join his new post for
A) 6 days B) 7 days C) 2 days D) Nojoining time

LMW STEBELTD 2 rer @5 AT Seg LB s Gy sTaiiatenay KL st
ST da@d Glammereneumib o

A) 6 gl ser B) 7 mrc aer C) 2 pm”meir D) eisiafsvena
What is the time limit to prefer mercy petition ?

A) One month B) 3 months C) One year D) Notime limit
A@Gee L@iGaar Fwitild@n put eigsmen Bl sens@er Fwilids Gasm@ib »
A) 9@ wrsib B) aperns wrgdiasr

C) gm spen® D) snew augibyy FlenL_wimg)

The maximum period of Special Disability Leave sanctioned to a person is
A) 24 months B) 12 months C) 6 months D) One month

Apiiy Quevreno ey B au swres erdeere) HTC e RULPEIALILIR R m s
A) 24 wngsiser B) 12 wngriser C) 6 wongmimsit D) o wrasb
Medical History Sheets of Head Constables shall be in the custody of
A) Station House Officer B) Sub-Inspector of Police
C) Station Writer D) Circle Inspector
penevenins snaiiselsr w@giar agewrbp FEEN — auath @)mbie GausTELh
A) Blerevw sraie sgyaisvit B) enmiy-sydieunenit
C) Pevaww ergpdsi D) anli. gydrsument
+ Which of the following reward is not awarded to Sub-Inspectors of Police ?
A) Good Service Entry B) Meritorious Service Entry
C) Money reward D) Both Aand C

. Bpaeim_cuppfleh 2. gefl oy uiqureniaend@ aupEISILIL TS Glau@ o e15 2
A) ppussfics uBey B) Quéss s@is Ll LBay
C) wemr Qeugn D) A wppnb C
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61.

6l.

62.

62.

63.

63.

65.

63.

An accused committed an offence of house breaking by using false key. The M.O. classification is
A) 11 (K) B) 11 (C) C) I (N) D) 11 (V)

96 @GHpauel sedrend anafwmed wren g Bpps By eaned, sjans ST GDD
arema LT 1.6 @GO EEw Cauairid

A) T (K) B) 11 (C) C) I (N) D) (V)

Intimation about the arrest or detention and release of MLA's, MP’s should be sent
immediately to

A) Prime Minister B) President of India

C) Speaker of the State Legislature/Parliament. D) Chief Secretary to Government

g1 naTn o P Ternt wHoiD ungrestocp o pinfeniaen enag) Qediuiu@inGumg
g el@same Qeiuliu@bGuig oL eTyuns Bipiaein_ UGBS FEaIeD
Gsfafdali Gasm@ib

A) osio wHE i B) @uywoss seaverit

C) &1L enis/UTITEGLOGTD FLITETUST D) sipas seveventn Qewsvrent

Which of the following sections of Indian Penal Code deals with the offence of
“Dowry death™ ?

A) Sec. 304 IPC. B) Sec. 304 B IPC.

C) Sec. 304-A IPC. D) Sec. 498-A IPC.

BpastmLaupisy @FPw gem_eend s FRET 155 Wfey “oust senss woeniih” UHH
GAIeRDS ?
A) Bfey 304 @).5.7 B) 19flay 304 B @).5.5
C) 9flay 304-A G).8.4 D) ifey 498-A @).5.4

_ Disclosure of Identity of a victim of rape is punishable under which of the following sections 2
A) Sec. 376-A IPC. B) Sec. 377 IPC.
C) Sec. 228-A IPC. D) Sec. 509 IPC.

. apufliy @ppeseie UTB&aUiL’ L auenT 6T yen_wimarp Qafuh Lig

Qaualliu@sgise Spse s1bs Aiflefer &p @pptb ?
A) Gfey 376-A @).5.5. B) 9dey 377 @.5.4.
C) Sfey 228-A @).5.5. D) 9fey 509 @).5.&

‘A’ commits trespass entering a graveyard and offers indignity to human corpse disturbing the
persons assembled for the performance of funeral ceremonies. ‘A’ is punishable under which

of the following section ?

A) Sec. 427 IPC. B) Sec. 296 IPC.

C) Sec. 503 IPC. D) Sec. 297 IPC.

‘o' ereitp pUi @ @S 1ggET 255D pieowphs ‘wefls 11Cosdens Sano@iiy Qadigib,
SRl gP e FiosFLmIGameTd QoIS DH G s Falg U ST EHE S @ e gm
afenerafld@pri. Gupuny ‘i puldr Qrusnegl Spangid a1 Limader 8 @ppte 7

A) ey 427 @).5.4. B) 9fey 296 @).5.5.

C) Oiley 503 @).5.5 D) Wifey 297 @.5.4.



67.

67.

68.

68.

69.

69.

70.

70.
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. Sec. 494 of the Indian Penal Code denotes which of the following offence ?

A) Bigamy B) Adultery
C) Prostitution D) Criminal Conspiracy

. Wfley 494 @HBw sevm_emend #1711h Kpansmih erdieienswiren @ppiBeer GG Eng 7

A) yeGug) Lp 9 o uil@ et @ud@d CunGs Bam@h Busioeanh oz
B) wenp Spplis L
C) aussmgin

D) @ppurp ¢®

Which of the following sections denotes the offence of ‘Unlawful compulsory Labour’ ?

A) Sec. 373 IPC. B) Sec. 372 IPC. C) Sec. 374 IPC. D) Sec. 375 IPC.
Bpangpid feysefled erfs 19Ma) “s L yionspp &1 mw o enplin]’ @ppsBener Lppl
GRS eADg ?

A) dfey 373 @).5.4. B) ey 372 @).5.s.

C) dfey 374 @.5.4 D) ifey 375 @).5.4.

If a theft in respect of any idol or icon in any building used as a place of worship in the state
of Tamil Nadu is committed, under which of the following sections it is punishable ?

A) Sec. 382 IPC B) Sec. 379 IPC

C) Sec. 380 (2) IPC D) Sec. 381 IPC

SEPBEIC 1460 2 6167 6THS S HL1gL_1b GULIGusHETE LWSTLER S ILGEDGET,

sl gL SBayer aarer el radensGunr ydwsg Revew eugaugensBunr seranm@b
GQeweneng sips Eipangb Ifellehr Bip sengdagssaz 7

A) fley 382 @).5.4. B) dfley 379 @).5.4.

C) ey 380 (2) @).3.+. D) Afey 381 @).5.4

Which of the following punishments is not covered under Sec. 53 of Indian Penal Code ?
A) Death Penalty B) Solitary confinement

C) Imprisonment for life D) Fine

Bpangmib sem_aenselley aiis gewm_ear tifley 53 @i w geim_eaers sl FB0
GRS LuLTS gt ?

A) ges FedwL_enen B) saflurs Renpenaiiug

C) wyuyeir sevwi_snen D) s

Whoever by words either spoken or written, brings hatred towards the Government established
by law in India is called

A) Affray B) Rioting C) Sedition D) None of the above
@pPwmeailsh &g Poreuds Qupp spfener Gersbauiun’ L sebaig sTapsLILL
Glampaer apevions Glaupylinyd e o erenmé@@p @GHmib eTereuTnl HenpssiuG g ?

A) séspey B) saah alenearalgsed
C) syoedgBunain D) GupGlardrerenas e1giayib QLimmES1S
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71.

7L

72

72.

3.

73.

74,

74.

Sec. 188 of Indian Penal Code denotes which of the following offence ?
A) Disobedience to order duly promulgated by public servant

B) Affray

C) Causing Hurt

D) Public servant receiving bribe

Iiley 188 @pBw peim_snend o b s1is @ppiBenan LpA GG R e ?

A) Glumgs senflurgney gpenpuins effembuliun e RO AL dadGé BLpliLig urenn
B) #denay

C) smunb efenemailiiiig

D) syrs sanfluii sugheth eumiigaig

Whoever escapes or attempts to escape from any custody in which he is lawfully detained for
any such offence is punished under which of the following sections ?

A) Sec. 212 IPC. B) Sec. 222 IPC.  C) Sec. 220 IPC. D) Sec. 224 IPC.

sraugnuilggid s L APunad sresiled eneudiaiiLi 1y i@ b ungismiy sigesfiarpin $O94s
HERG G pwgyth GLimg Bpangmib srps flalafiay & pemysa @R DT ?

A) ey 212 @).s.4. B) ey 222 @).5.5.

C) ey 220 @).5.4. D) ey 224 @).5.e.

Sale of obscene books elc., is dealt under which of the following sections ?

A) Sec. 300 IPC. B) Sec. 292 IPC.  C) Sec. 290 IPC. D) Sec. 295 IPC.
HUTE YFansa aflpuenar Qadged upsefluer sis Bipangmih (ifailssr S
@O O Bereng ¢

A) 9fey 300 @).5.e. B) difey 292 @).5.5.

C) Afay 290 @).5.5. D) ey 295 @).5.5.

Sec. 170 of Indian Penal Code deals with which of the following offence ?
A) Punishment for cheating by personation

B) Punishment for cheating

C) Personating a public servant

D) Assisting in concealment of stolen property

ey 170 QEBw sem_enend s1°1 b Bpangmith sips GppiBoar GG Epe 7
A) syenonpm’ L ggmey TOTDDIUSD & &L enes

B) sumppieusnes seir_snen

C) Qungr ssrfuengts Gumed g6t wapm_i_tb Qi

D) BaL@ Qurgener wepliuspe o sal Qadiged
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75. Act endangering life or personal safety of others is an offence under which of the following

sections 7
A) Sec. 335 IPC. B) Sec. 336 1PC.
C) Sec. 337 IPC. D) Sec. 338 IPC.

75. sulpi@ ssvag wppaiseis oL puTgaTIIDEG sumuih oflenarala®p Glauems s1EE

‘i Bipanepii Bhedells @pptb ?
'- A) 19fley 335 @).5.5. B) 9fey 336 @).5.9.
C) 9fey 337 @).5.2. D) fey 338 @).5.4.
76. Unnatural offences are punishable under which of the following sections ?
A) Sec. 376 IPC. B) Sec. 375 IPC.
C) Sec. 378 IPC. D) Sec. 377 IPC.
76. @upead@ wIpieT GDPEIGST Bpsrepilh ebs ifafler 8p @ppib ?
A) 19y 376 @).5.4. B) difey 375 @.5.e
C) fey 378 @).5.4 D) ey 377 @.5.4
77. Act of a child under how many years of age is not an offence ?
A) Under 7 years of age B) Under 8 years of age
C) Under 9 years of age D) Under 6 years of age
7. ez awBpEGLULL @ Gphagder Gaudd @HowHnETS SEpstuGRDE 7
A) aup awBHGLr ol B) erl® ewwBp@i o
C) geg awBpGLr L D) gym auwBp@t ol

78. When two or more persons by fighting in a public place disturbing the public peace is said to
have committed the offence of

A) Causing Hurt B) Rioting
C) Assault D) Affray

78. @ueim® HOWE ABDHE Guopu L suisst g5 Cung GLsBa serren Lt GBS ppauid
Qung sewBenwd Gamadgld Guig sauiss Bipangmib s1hS GPPFISS yfEpriser ?

A) &Twih 2 eTLTEGHW B) swah allenerailggse

C) snagge D) adsua

79. Under what provision of law a Police Officer may seize any property which may be alleged to
have been stolen or which may be found under circumstances which may create suspicion of
the Commission of any offence ?

A) Sec 91 B) Sec. 102 C) Sec. 100 D) Sec. 200

79. aps Wileler Gip arasd sgraet BGLOUC G @iusns GerdaiL@h S
B lul yGlugns spGsalL@h ShE Quingpenanyib (Sisbegt)@ppib aBGseih
Qi Gererseimih #3CssFes o L THGID @ pHlerauich sremwr@Ld Gungener
analippeorid 7

A) Siey 91 B) Aday 102 C) 9fay 100 D) 19fey 200
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20.

81.

81.

82.

83.

83.

As per Sec. 154 of CrPC every information relating to the commission of cognizable offence
if given orally to an officer in charge of a police station shall be reduced to writing by him or
under his direction and be read over to the informant and shall be signed by the person giving
it, such information is known as

A) Final Report B) First Information Report
C) Police Report D) None of the above

. ey 154 @.af.p. Fl g gl Qriisp@iu @ppewrey Ced W g apug) uplu

GeBlaun(s FFAIGILD HTOISDH Hensow QupILiLy SASHUNGFEG aumi Quomfluns \
Gl (R &aLILIBUDATTE 25! ougnGeur (1) a-gBoaderiig Gunr srpBLILBHED Carsu@ib. 3
saas Qsn@dsanflitb sl sreiiFs esGuriu QupGasi@ib. Sy G auedlaT

GlLrw eTeitesT 7

A) @QoP spfdes B) wpsed gaas sfldema

C) snaush Jjpfldens D) GuwGe Ganerer aflen & CummBSTS
Under Sec. 173 (2) CrPC the Report of Police Officer on completion of investigation is
commonly known as

A) Final Report B) Police Report

C) Investigation Report D) None of the above

Wifey 173 (2)uig yevermienas (piy 65 Deir srash sgraiei graad Qi fldms
Gungiaunas steleunDl SenpaaliL@ib ?

A) @B spéas B) sraush syfidens

C) yowermiiey dpldend D) Gue Qansirer aflentssir QLTSS
Under what provision in Criminal Procedure Code the Court has power to postpone or adjourn
the proceedings in any inquiry orTrial ?

A) Sec. 317 CrPC B) Sec. 309 CrPC

C) Sec. 437 CrPC D) Sec. 436 CrPC

. @ppeflue pen(penpdei LGB Ths el &ip fBemEBDEG LuflFeenar (=1)

efgngener BLsugdenasst erell aIlLZDG (Dvag) 958 eauliughares SFETILD
o esw® ?

A) Sdlay317 B) (9dey 309

C) ifay437 D) ey 436

Under what provision of CrPC, a party toa proceeding may as soon as after the closure of his

evidence can make oral argument and submit a memorandum of written arguments, if any ?
A) Sec. 311 CrPC B) Sec. 314 CrPC J
C) Sec. 309 CrPC D) Sec. 320 CrPC

GDpaTc) FenL(LpeD sl LgBe arps iailsh aflergenent apiyfs 1AeHanT auphie
sbuggiu L gronden amd@uwmure UTEGUTEHHYLD STUPSSI ApIDTET
aurd@angsamsu B8 wepg@a Gauwend ?

A) 19dey311 B) ifey 314 C) 9May309 D) ey 320



84.

85.

85.

86.

86.

87.

87.

88.

88.

. Under what provision of the Criminal Procedure Code the Court can order to pay compensation

18- (0

by the convicted person to the victim of the said case ?
A) Sec. 257 CrPC  B) Sec. 357 CrPC  C) Sec. 157 CrPC D) Sec. 360 CrPC

sipg WMeller 8ip o FRwepid e _eneruyh wHmIh BN FEL LanTEIImS S
Glanpéseumb 7

A) 19fey 257 B) 19May357 C) ey 157 D) ffey 360

As per Sec. 438 CrPC, the High Court and the Court of Sessions can grant “Anticipatary Bail"
only in the case of

A) Non Bailable offences B) Bailable and Cognizable offences

C) Both Bailable & Non Bailable offences D) Non cognizable offences

G-ail.p5. s171 19May 438 Ly o wARB DD Lpmh Syomt BB weiipib wpehr gpmibs Kpaeimi
STh QuipdGseiled apmisemb o

A) denarufeh oI upiywing @gppie

B) deanis el damigw LopIth en& g 0155 m @M @ 0m L

C) Bevanded @b oppih o _pig wirs @D DEIEST

D) ensg Qeiigp@iusdans @mmLb

Section 320 CrPC deals with

A) Compounding the offences B) Withdrawal of complaint

C) Legal aid to the accused D) Discharge of the accused

iy 320 @.ofl.qp. #L L 1b srensd @ldRenas ?

A) swngnend Qadig Qansren @ppuiseer LiH

B) @gppsenen Bmibul Qupse

C) @ppib QFiiz FLGBEEG Tfer ppaih o Fomea

D) @ppib Gadiz pusr elGaidss Lmpd

If the offence is punishable with fine only, the period of limitation shall be

A) Six months B) One month C) One year D) Three years

SO GODFEDG ILngih wi HGi sewr enerwns alEd @b L1 5586 ypenen
aflFTIeRTa (& SIDLISHE TN HIMQITIDL) sicien o

A) sLpi wonghisen B) ow wisih
C) g eummi_ih D) wpeirmy eugsi_miser
Warrant cases means case relating to an offence punishable for a term of imprisonment

exceeding
A) 2 years B) 7 years C) 5 ycars 2) Not exceeding 2 years

g pyenenr aus@ sTSILIG —_ aiHL misEhd @ Guosh Nennd snalena ST avatuns
Ré5d gda @D UPPW eupdFlened @@L

A) Qoew® eugpL_idiser B) @ eumi_ib

C) preig sugsLrigser D) epsirpy evgn miasin
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89.

89.

91.

91.

92.

93.

93.

In the contents of charges, the previous conviction of the Accused shall be stated because
A) For enhanced punishment B) For less punishment
C) For set off punishment D) Does not arise

@hpliugBAesuis @il (P& BeTL_enastenil LiHH) @A Gaushngw angesid ?
A) 2B gL ena QUIES B) @enpig sewn_enar s

C) gam_marenus fas D) sips alswnen argesiipth Fevme

. Case relating to an offence punishable with death imprisonment for life or imprisonment fora

term exceeding two years is considered as

A) Summons case B) Warrant case
C) Sessions case D) Not any of the above

. G apsBle geL_anen J15S, Fn@gLh aueng Henp HewL_enat (1) @uesa® e BHE

Guosh gewL_enell GTaTLISI

A) spenppliLimes aipa@ B) 19 uirenes aupd

C) Qeaysirav aupaiE D) GuBe Qansrenear sigioyth QUTGHETS
As per CrPC Section 70 (2) every warrant of arrest issued by a Court shall remain in force
until it is cancelled by the Court or until it is exccuted.

A) False B) True C) Partly true D) None of the above
@-o%.5. s 19Mey 70 (2) szl Qeiiuahars Qan@asiu@d Ly eunystw B weTpLb

gég Qadiub arenruigyib (21) JA™E SpRLFHH pLaigdes sGEGD auenuilsd
Qe ererp) Qensrarmsd

A) Gumd B) sawenn

C) unf s ciwenin D) Gl Gersrerenc agiajb GILIMGHSTS!

. Cognizable offence is an offence in which a police officer before making arrest has to get

permission from

A) Court B) Superior Officer

C) Government D) No Body

“enag OFiiusHE@iu Goo " eTeILgl anas ST g eag Gy peirat
@b Qoke SAid Qup CusGd

A) BBwerpid B) Guos siBan

C) mypsnmisih D) eraugpiflsvens

As per Sec. 164 CrPC Confessions and Statements are recorded by

A) Sessions Judge B) Judicial Magistrate
C) Sub. ordinate Judge D) Executive Magistrate

@.af.5. s 1b 1Tiley 164111y, GUILBR LHDILD TS EGEPSEISET uBe) Qi@ FEa
A) spwie) FRLE B) fRsgiemp @ppaiusd p@ai
C) agai sywiey BUB D) Qewsgienp BT
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95.

95.

96.

97.

97.
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Police custody of an accused can be granted by a Court only within first days of
remand.
A) 30 B) 15 C) 45 D) 60

. 90 Gppaunelienw sraus sygyeueiar Gumpiie, FRwepd (s B el

aneush sreublaBayd@er Fre HigwPds Castrd
A) 30 B) 15 C) 45 D) 60

Under the Indian Evidence Act, as per Section 3, “evidence” is of two kinds, what are they ?

A) Oral Evidence and Documentary evidence

B) Occular Evidence and Medical Evidence

C) Direct Evidence and Circumstantial Evidence

D) None of the above

@pBw enerpyde b tIMey 3 & Ly “am’ Aund” @QEeimsunEGL — S LTenes ?
A) eumii@uomfl sr Runb gyeuent Frl Blub

B) sewgmipp #rl fwib wmsgen srl Rwib

C) Gy sm’ Runb @phenc sm Huib

D) Guplensrer alenaer Glunsisng

What is meant by “Direct Evidence” under the Indian Evidence Act 7
A) Testimony of the witnesses as to the principal fact to be proved
B) Medical Evidence

C) “Hearsay Evidence”

D) None of the above

. QBBw srende L gRe erena “Gpmy #n Aunons s@s LGS 7

A) dpdsenar asirer siis@sdn upp) er’ Nsefsh 2 enpd Frenm
B) w@ssieusn Suih
C) Gasralflenevd ensirp

D) GupGlansien afleni_asenr QunmssTs

What is meant by “Extra judicial confession™, under the Indian Evidence Act ?

A) Confession made by an accused elsewhere, than before Magistrate or Court, to any person
or Body of persons

B) It means confession obtained by police-illegally

C) It means confession made by an co-accused

D) None of the above

@EPw encipd s GBS FRESID FTITS @UILISSRNENT STHIDITE sTeiTeT 7

A) d@weipid (o) ERdgienp pR et sysveng Geugy L Sysbaug FLfsei_Lh
QanebeiL@ib SUIL ST

B) sneush sigyeinred wpepwpp anflufie Qupliun’ . giiysayens
C) ss@ppaunel Qan@agh eLLsgenT
D) Gupenerer eflevser Qunmpssns

[£2
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98.

What is meant by “ALIBI" under the Indian Evidence Act 7

A) Tt means physical impossibility of the presence of the accused at the scene of crime by
reason of his presence at another place

B) It means person flecing after commission of offence
C) It means a person who settles abroad after commission of an offence

D) None of the above

@ApBw sneis s gHs “Gauppeumgd " (ALIBI) arerenGleusigy GlummeTu @b ?

A) eipif s @sBed Gaarws Cupui B sbualrrsdad Qopssns
FpUILIEILD QUITELD

B) @sppseos uiisel 6 gu gellbs e e e Gungpsiu Bib

C) aPi gppsens yhts a6 Qaelipr® CesipelBse

D) Gup@snsrer allenL_asr GlLimbbsTS

. “Presumption of Law™ may be classified under two heads. What are they ?

A) Rebuttable presumption, irrebuttable presumption
B) Legal presumption, illegal presumption

C) Moral presumption. Immoral presumption

D) None of the above

. el LB wner giesliy” @)m auenssaTT@i. Senas wieme ?

A) wpiQaremnggienfiiy, wpnfusg e

B) sl gpenpursr gienflLy, s premnen HienfiL)
C) sippenpuner giowlli, sipepenpupp Sieliy
D) GupGansrer allen_ser CLmbhETS

. How the “DOCUMENTS" are classified under the Indian Evidence Act ?

A) Public Document, Private Document

B) Written Document, Unwritten Document
C) Legal Document, IHegal Document

D) None of the above

. @pRw srC Pwés LGB “gyeuennd” sl aensluGSSUILL Getarg 7
2 o

A) Gung yeuserid, el JaiewTLd
B) srupsUiui’ L gieueniih, STUPSLILI_ TS ShauawTid
C) FLlL(penpuTen Haiewiid, FLL (LpenpWDHD P4ouswILd

D) Gup@ansrer alenLaer GlLinsbsrg
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Whether “LUNATIC" is a competant person to testify before the court as per Sec. 118 of the
Indian Evidence Act 2

A) -No- He is not a competant person

B) -Yes- unless he is prevented by his Lunancy from understanding the questions put to him
and giving rational answers to them

C) -Yes- He is competant to testify only in civil cases

D) None of the above

@EBw aneipys FLgRer 9hay) 118 wig “10ga 7 paseunt BB wensHed F FO s meen

555 sundifgaury 7

A) G - BGHuDHDeF

B) guth - geirafl_ip CaL sUL@h Casrafndn yfpgid Qansirareyh BB @
LGSsplos@ais u_@@&mm@sn@ﬁuﬁ,ﬁ@ HAurg FEgHene Seor_wins @sbevrafiy sb

D) Gwla Qersier aflent_aair Ol iz

- “A” Prosecutes “B” for theft and wishes the court (o belieye that “B" admitted the theft o

"C" — who should prove the admission of “B" 7

A) “C”should prove the admission

B) “A™must prove the admission

C) Both “B” and “C* should prove the admission

D) Both “A” and “B* should prove the admission

BGLO4GppsRnisns ‘" ereiTLicuit @ ersuan by @PpapEE Csr@apmi,

@ ,smgﬁ@ﬁm:_&uﬂjﬁ “&" sredtieuie b LIS ClamTetm_mi s1enr BB e gens

BLOUGST@L stam " mpB . wni HbF GBI T uouii T Cauasmr@ub »

A) “&” Quindss Cauaw@un B) "9 Quunsas GeuamGubd

C) “g” wpoIh 8" Qo Pas Goraw@in D) wppib %" G Geueir @b

Whether a “Police Officer” shall be compelled 10 say from where he got information as to
commision of an offence 7

A) Yes - He can be compelled by court

B) No - He cannot be compelled

C) Yes - He can be compelled by Defence Lawyer

D) Does not arise

FTaUH 2ygy evewri STQUSNTUD S(F @ Hpib Yy L Qgen BEAIGD TS eTUjLh ST ) 15 I
Guppnri sraing, Gﬁfﬁaﬂé@tﬁum SULTuU@ss wpig.uion o

A) 2y - BRueirpsgred ’
B) wyungy [
C) qyib - S1E B0 Iy updapfleramed sy UGES wpryuyih }
D) Gup@snerar afent s Qi mns :
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104.

105.

105.

107.

107.

“A"is charged with travelling on a train without a ticket. The burden of proving that he has a
ticket is on whom ?

A) Prosecution B) The Burden of proof is on “A”
C) Burden of proof lies on the court D) Does not arise

Moy Nerstuant LwemEFL g evmosh Qruilelley Lwewnh QeiEETH @HDID Frl L Ou@&pd.

S @ L Bl enl. eeugDEESTT ereTLIeng Qo g b se wieny FTipsSIELD 2

A) raEsglife B) Quinfs@ib mevio '3y " eveu amiipssn@h
C) Guunid@b senio BB weniens D) Gup@eneirer Gaarall eripngs
FITIT 5T LD

How many witnesses are required to prove the “facts in issue” in a case ?

A) MinimumTen B) Minimum Twenty

C) Minimum Five D) No specific number of witnesses required
PO pdFleh (fgdrenear o dren ariafaenen Hnlda sevevs Gioinlés sgsener sm’ Fuib
Cganau 7

A) gepistiuan - 10 B) @eppsulsn - 20

C) @eopEsinn s - 5 D) etggemen sm Rub CGaemey stemr
e FEsLLL allshensy

. Whether in a criminal proceedings the fact that the person accused is of a “Good Character”

is relevant or not ?
A) Relevant B) Not relevant
C) Only in specific circumstances D) None of the above

- @PPaNpdE pLangdeaaselsy sRA FH@GID 2 e W eIGTLIGTET FHISE

Qaniyppens sBsiUGELT (Seas) @evensuuir 2
A) Qaniyppans s B) Ganiuppsns smsliu@h
C) Pav GypRoasels Car_iyppsigs D) Gup@ansear efent_aer Gl i@ s

How the contents of the document may be proved as per Sec. 61 of the Evidence Act ?
A) May be proved by “Primary” or Secondary evidence

B) May be proved by circumstancial evidence

C) May be proved by oral evidence

D) None of the above

@pBw s Rluwss L@ Ifey 61 sir Lig. syeuesmiisais o_6iTent_d&geng sty
GodnVgge Gouair@ie ?

A) wpgabgn sn’ AugsnGen, @uebr nisr enl AussmGar Guiidsamd

B) @pfleows srsig apsvis Qodnddssvmd

C) amiGuomf) sn Suih gpavih

D) Gupllsnsrer alentser Qunmdzng
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. Whether a Judge can ask irrelevant question on a fact to a witness during trial ?

A) No - Judge cannot put such questions B) Yes — Judge can put or ask irrelevant questions

C) No - But he can ask in civil cases D) None of the above

8@ BB wep pGoi s1hs shsBew upfu “Osm_iupp Casraleow’” Ga s wprguiomn 9
A) wpuwrg - Qam_iupp Gasralerw Gas [T T

B) syb - Qs iupp Caerelenw Gxlsewmb

C) wpywngr - germed o.flenin augpd@aelisy ot @b Gar savmb

D) Cupblendrer alen_ssir GQuimmisngs

. 'When a man is presumed to be “dead” as per Indian Evidence Act ?

A) If he is not heard for 15 yrs or missing for more than 15 years

B) When a man has not been heard for 7 years by those who would naturally have heard if he
had been alive

C) When Death Certificate is produced in the court
D) None of the above

- 96 waligt @pia o i srar fBwerpi s1iGLngs s@mHTD 9

A) syauit i@ eirenii sten efluiid 15 eipL sisend Goa QOaMumscd Gurnere Sosug
Syouit sremmost Guimermey ’

B

—

Sauit 2 5L et QaER G LIRS Syeusnalt Lb RQuebuns Gadrad L g Bae

S lg WSS grpre(R srevggs@ syeuengl) LDy Caerait) L_afsvensy Tem |
QuodnfEs i L re

C) weui @ig ot gra sndip sréGss Cedsmsd

D) Gup@eneren afleni_ser QLimmpsns

What is meant by “Leading Questions” as per Sec. 141 of the Evidence Act ?

A) The question asked by Judge

B) Any question suggesting the answer which the person putting it wishes or expects to receive
C) The question asked during ‘Re-examination’ '
D) None of the above

@EBw srepriel L sR LiAey14] 6 Ly afenr QurBeSlerrasr erprc ereier 9
A) pRwepsgne GsL slu@h Gadrad () oflanr

B) ellarey®p geut gmb Qup @iy Bp Sysewg stRiunifenm eflenLsmeard @DIciLimed
2 emiiggin e1fs alenmayih

C) gy edsrgensprdilen Gung Ga sluGn Casral
D) GuéGensrer alen sar Qunisns
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111, 173 portion of a tank is filled, with 80 litres water. If its half portion is filled, what will be the
quantity of water in litres 7

A) 120 litres B) 160 litres C) 80litres D) 240 litres

L. 9@ peventi Qgm 1y uer apsiniies @ LGH 80 el i geimenfsLeir Briuiu Gereng).
Qe guiler e UGS BApOILCLLC e, sBgusirer geimenfier sjerey stigsenar S it

G0 7
A) 120 a8 i B) 160 e it
C) 80 el L D) 240 o9 i

112. There are some bananas in two bags. The number of bananas in 15! bag are 1/3 more that of
the 2" bag. If there are three bananas less in 2™ bag than 1°t bag, then calculate the number
of bananas in 1°' bag.

A) 6 B) 9 C) 12 D) 15

112, @rei® evisafa P LIgpEIG ST 2l - (pped evLT@yaiTan LpRiseT @) revnLmaug
eudilgysirar uphiserer afl 1/3 wmig SIBELTGID. Fra_ oy el 1pse enLiufieh
o-gireneng afl 3 umenipliLipmiser Genpauremed, wpse eLIGISTET LILpHISeneT SenTdH 6.

A) 6 B) 9 C) 12 D) 15

113. ATea trader mixes the two qualities of teas into one at the ratio of 5-4. The rate of first quality
tea was Rs. 20 per Kg and of the second quality Rs. 30 per Kg. He sells this mixture of tea at
the rate of Rs. 27.50 per Kg. Find out his profit percentage ?

A) 10% B) 1214 % C) 15% D) 75 %

113. Gaalit gneir afpriest @aesens o ggrsrmerer Sig 4 aisp eNRssHeb SERDT. (1pFe) ST
Caafi groflsir aflency B Baunafln @ em. 20 -1b, @reim_mb & grefe afleney HGavr e5.30 2y @1h.
s th Gadls w grenen HGevn, ep. 27.50 e afgiBe alppred Reni @b
@enru 58 IRz sem@iiy

A) 10% B) 124 % C) 15% D)1 %

114. Raja starts from point ‘A’ and goes 5 Kms to the North, Turning to right, he covered 7 Kms
distance and again turning to right covers 5 Kms distance and arrives at the point ‘B’.
How much is the distance between the points *A’ and ‘B'?

A) 5 Kms B) 7 Kms C) 12 Kms D) 17 Kms

4. @orgn *A* arggnb yereflufish oy mibisg, e Devslicr 5 BCeon B i Glasv@pmi.
ailiudsth Hebid T HBeur 5Lt gnoapis, Beir@ib erevliudsib B 5 HGevr
Bl girupd Qe ‘B agyin ydrellew seni Spmri, yerefl A @ Bagb
@ e Buiujeirer gnmb ereren o

A) 5 8.8 B) 7 &..8 C) 12 8.8 D) 17 8.8
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115. What should be put at the place of ‘X" in the following figures ?
SN AN
o 5
é’
A) 25 B) 47 .89 M D) 41
115, Bpssem i g@a X' aep @l_;ﬁcil @ das Gauswmig.u sTew eTaire ?
4N AN
é 57
4

A) 25 B) 47 C) 37 D) 41

116. What number should come in the place of question mark ?

27 2y |24 s1
T o o e 2
L A
A) 83 28 YR TS
- 4
‘I'I
C) 64 D) 69

T116. Gaeradls @Rl @)L SR srbs siemementd @GR GG ?

27 2% 51

19 | 46 | 3|5 2|
A) 83 B) 75
C) 64 D) 69




(IR 27- A

117. Which term is not correct in the series ?
15,45, 90, 360, 1080, 2160, 6480

A) 90 B) 360 C) 6480 D) 1080
17, ysirer aullensg Ggm_ied geupren i e1g) 2

15, 45,190,360, 1080, 2160, 6480

A) 90 B) 360 C) 6480 D) 1080

118. A student got twice as many sums wrong as he got right. If he attempted 48 sums in all, how
many did he solve correcly ?

A) 12 B) 16 C) 18 D) 24

118. 9@ wrewars sfuns Qe sewd@semer ol @I LG Fews@act sapres
Qeigerarmeir. SEs ¢ i 48 7 (5 ¥ Glerusg)ei 3 GTSIDITEY, Sjeueh Qg
sfumer semdGaallen sravmeniidens srerauarey 7
A) 12 B) 16 C) 18 D) 24

119. A coin was tossed two times. What is the probability of its head and tail on the ground ?
A) 025 B) 050 C) 0.75 D) 1.00

119, 9@ sre @uuperp seimg oMUl L gL H568 Fenauib, aimgyih (L4, o) senguiich
aflupaugp@iu Hapsaey ererar o
A) 025 B) 0.50 C) 0.75 D) 1.00

120. At the fair I bought 6 erasers and 2 pens for Rs. 15. If I could have bought 4 more erasers for
Rs. 14 than pens for Rs. 9, the price of a pen was

A) Rs. 1.50 B) Rs. 1.75 C) Rs. 2,25 D) None of these

120. @@ selvan ullsd preir 6 siLisesd, 2 Guamdsestb 15 esumiigE aumiGarer. Quomsih
4 Guenndasr 9 ppLIMIGE aunkIGasDH @ LBns @b 4 piLrss Qurgsts 14esumd
@b Clar@ég aunmmBemne @ Guearrellsr afene sTasauemey 7
A) Rs. 1.50 B) Rs. 1.75 C) Rs. 2.25 D) @enau ersiaqtGevancy

AA21. The mother of Mohan is double the age of his sister and his father is 20 years older than him,
On the day of the birth of his sister Mohan was 5 years. If at present his sister is 17 years then
what is the age of Mohan’s parents separately ?

A) 34,35 B) 38,40 C) 34,42 D) 42,34

121. Gursefler gmil, syeusir sGansferw ol @reir@ i ti@ HBs angib, UL
shong Hauener el 20 evwgib B swpsrarauiasr. Gunasehsr #Ganrsd ks Glumapg
SIS wwgl 5. HCLTpS st sBangMufer ez 17 erepres Cuonseafieir
CupCprilel euuigy ereirer o

A) 34,35 B) 38,40 C) 34,42 D) 42,34
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I bought fruits from the market in a bag. Looking at the bag, my daughter asked me about the
quantities of fruits. 1 replied all are oranges except 15, all are mangoes except 20, all are
bananas except 25, how many fruits are there in the bag ?

A) 40 B) 60 C) 50 D) 30

. pewt epenguledlmis e eouudsd Lpmisar auniiF) apGasr. eUW LTSS Tl Lom6T,

uprisallar aransalisamaew GaLmer. 15 gaily ersvevnh gy oe5e Lpiser stepib, 20
prisens gyenendgih wombLpriser, 25 frisears syemang g h ammenipliLipEser sicipih
a&plGarer. auulellgis Lpiisaler Gwrig cavenfléans ccier »

A) 40 B) 60 C) 50 D) 30

Manohar starts moving to the north from his house to go to his friend’s house. After covering
the distance of 100 metres he turns to right and covers 400 meters distance. Again he turns o
right and reaches his friend’s house after covering the distance of 400 meters. In which
direction and how far is the house of his friend from his house ?

A) 500 m, South-East B) 200 m, East

C) 500 m, South-West D) 300m, South

wlerra pemut el hE e, ser alt” 1y.aflmia supionas Gasv@pmi. 100 Bl i
gnow Qeerp (Aehreni susvliypd Babrd 40080 i gnodeng si_d@mpri. 1few@ b
awedyp Bwbcd 400 Bl i grob Qeerpy mewui el so seoL @pni. peuefear ol
bs Benauilev, sraiaueney s1riRa @ wmaFng 7

A) 500 18 QOsir-Bipies B) 200 if Bypi e

C) 500 16 Qgeir-Guopes D) 300 £ Qspe
A bus completes half of the distance at the speed of 30 Km/hr and completes the second

half at 60 Km/hr. If the total distance is 20 Km then in what time the bus will complete the
distance ?

A) 90 minutes B) 60 minutes
C) 45 minutes D) 30 minutes
g5 Cumpgl Cese Causmyw grrse urBew wenflieg 30 8.8 GaussdBanb, 155

unBeow wellde 60 &8 GausgBand sdfpg. Quirgs Qe Gauaingw grmb
20. .18 erafleb ereseuaney wenfl CrogBe Cumis HFs sNIdemps aden ?

A) 90 DB_riameir B) 60 AAsiser

. C) 45 Al miserr D) 30 @il

. Which of the four numbers given will complete the number series when put at the place of the

question mark 7
2,5,12,27,?

A) 54 B) 36 C) 24 D) 58

. Baperer 4 arewsefleh e1is eredw, ereiw QgmMayener Gaarad @enw isH Cadiub 2

2,5.12,27, 7
A) 54 B) 36 C) 24 D) 58
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126. There are 50 national level players in a college. The college specialises in three games.

126.

127.

127.

128.

128,

9 players play all the three games. 17 play only two games. 5 play volley ball and tennis.
7 play volley ball and cricket. Equal number of players play only cricket, tennis or volley
ball. How many players play cricket ?

A) 22 B) 29 C) 20 D) 34

9@ sgriuiss 50 Gsfur Hyerailer afleerun@Ld wremraiss o_ereren. Sifs scvgy
apeiny efenaruim Reend@ HpLiy LlpE seféfnst. 9 efeerwm’ (G afnissr gpenm
nﬂmmmm;@d:aﬂmmun@mr‘r.ITmHWNﬁadJZnSTmmunL@mL@Gw afenemw m@ eui.
5Gur  ‘eunmellume’ whmh ‘QLerefley’ efmerun@eut. TGt anmalumgyih’
‘AAFCs Gib’ eleenun@eur. s sremenldemauiies gen eflenerwn @ ariser
ARi0sl, OLaraflen g arelurd . @Gw allemearwr@ean. srggenen Guim
AR&REL eflenarur@@ealr 9

A) 22 B) 29 C) 20 D) 34
“A’ and ‘B’ start from the same place for the same destination and they take the same route.

“A’ starts at 8.00 a.m. and he drives at a speed of 40 km per hour. ‘B’ starts at 9.00 a.m. and
he drives at a speed of 50 Km per hour. How much time will ‘B’ take to catch up *A’?

A) 3 hours B) 4 hours C) 5 hours D) 6 hours

A, B @oaunh 9Gr @B smbiidgl. =G afliled, Gy G geng Clacipenw

Gae@ip. A snane 8 wenfld@ Oem_mf, wenhdg 40 §.80 i CuagPe gL @Fpri. B

snena 9 wenfléE ypUUl B weslide SO . B GauisgBe gl @& pri. B, A enas
GashipenL_w steiseuarey GEILb B ?

A) 3 wenflast B) 4 wenflser
C) 5 wenllser D) 6 wenflasr

The following arrangement is based on a certain principle. Keeping that in mind fill in the
vacant space.

8|64
3 7
| 14 16 | 18 {4
19~
A) 4 Bys. C) 6 D) 8

GAIL L Rew oy liienLwnss Caren@ Faperar 1 GF60 eTemsa
srapaLILL Baterer. snefluns o et sl Sms Bolis.

8164
3 T
14 | 16|18
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Find the missing number in the matrix
4 3 5 7
7 6 8 9
8 2 12 ?

20 16 28 50

A) 13 B) 14 C) 16 D) 18
Baperer H11_gH& sremiiLL_ng ceimenenT SerR LIy FsaLb.

4 3 5 7

7 6 8 9

8 2 12 ?

20 16 28 50

A) 13 B) 14 C) 16 D) 18

In a family there are five brothers who are not yet married. Each brother has a sister and the
mother alive. How many women are there in the family ?

A) 6 B) 10 C)2 D) 5

S0 GRWUSED Bwemwnang 5 sGangias o sroreni. @aibanrm sGE15104E S0
#Bangfluyh, smuyb o gL eir o ererend. 2fEs GEBUSHD o srer QueiTadT sTdsemen 0

A) 6 B) 10 c)2 D) 5

A clock is showing the time 12 hours 40 minutes. If a mirror is placed in front of the clock,
then what will be the time seen in the clock through the mirror ?

A) 11 hrs 20 mts B) 12 hrs 40 mts C) 10 hrs 10 mts D) 8 hrs 50 mis

e syanmb Grrdeang 12:40 arar snlBEDS. S5 SETRITI W S H19.H175 5 e
(peTenTel eneugsnew, agarasen Gpmb aeenauns sawemmyuisy Cafuph 2

A) 11:20 B) 12:40 C) 10:10 D) 8:50
‘A’ and ‘B’ are real brothers. ‘C’ and ‘D’ is a couple. ‘E’ is the daughter of ‘A’. ‘B’ is the

father of ‘D', The husband of ‘F' is ‘B". The mother of ‘A’ is ‘G". ‘C" is the husband of the
daughter of ‘B’. 'H’ is the daughter of ‘C’. What is ‘H’ of ‘F* 7

A) Daughter B) Grand daughter

C) Son’s wife D) Daughter of the daughter

‘A'-th ‘B’ -1b 2 ewmenrownes #Gsngoisen. ‘C'-wb, ‘D’ -ib gbuBser. ‘A’ -ar oaer ‘E'. D' -air
sgens ‘B'. ‘F -a7 semreuit ‘B’. ‘A’ -ait yibon ‘G’ waer ‘B’ - 6 sesmeui ‘C’. ‘C’ gt osar ‘H'.
‘F g ‘H ereirer o_pay gpenp 2

A) waer B) Gus® C) wseaflar wenswall D) wseflar wser

A shephered had 17 sheep. All but nine died. How many did he have left ?
A) 9 B) & C) 12 D) 7

a@ Cuuiiuer 17 g @aer evaugBwEsme. Sauppled T 246 é gally wHp
@pigailLen. Bgaperer B ST TEZMET P

A)9 B) 8 C) 12 D) 7




(I 31- A

134,

134,

135.

135.

136.

136.

137.

137,

138.

138,

Ramesh is standing on the bank of a river with his back facing the river. A piece of a paper is
flowing in the water from left of Ramesh to the right. If the river is flowing from the west to
the east, then find out which direction is Ramesh facing ?

A) To the East B) To the West
C) To the North D) To the South

oGwey pEulle sennBunadFey 36 (pSIGUDSdS anquiny Berp Osneimy ma&nmi.
o Aflu s155s sem®B 1CGwefler auewliypsBellnig @ giypwrs pHuls WBshs
Gea@pg. pPwreg GupRelmig ipdars umdgsns, rGway Crri® s b
Beansenw sam@ilgdsa)ib.

A) Bypée Gpream B) Gupe Crnéd

C) aud Cpra®m D) Gsp@ Gurdd

‘A’ is the mother of ‘B’, hence ‘B’ is the daughter of ‘A’. This logic is
A) Right B) lllegal

C) Doubtful D) Totally wrong

‘B’ & yibion ‘A’ . erenGeu ‘A6t waeir ‘B’ sranGou @)is sidswnens
A) af B) &L a9@ursinneans
C) #3Csad54H L mears D) wppBanh seuprerg

What will be the relation of myself to the paternal aunt of the daughter of my matemal uncle ?
A) Paternal aunt B) Wife of my maternal uncle
C) Sister of my mother D) Aunt

eTe@IenL_ Lt FTUILOMoET oaallen sheng el sdensa@Lb eTend @b sTeiian o may 7
A) sieng el sgeng B) gmiomosir temewall
C) ershiggrent_w syibronefer Gamg D) sigens

In a certain code “TOGETHER" is written as ‘RQEGRICT". In the same code, ‘PAROLE

will be written as

A) NCPQIG B) NCQPIG C) RCPQJK D) PCTQNG

g0 #mGas @il ye “TOGETHER", ‘RQEGRICT erar srups i’ Geirengr. 3%

@iy ‘PAROLE’ a1 e1@dgidan i na srupsiion’ @@ 2

A) NCPQIG B) NCQPIG C) RCPQIK D) PCTQNG 8
If ‘POND’ is coded as ‘RSTL’, how is ‘HEAR’ written in that code. 4
A) GHIJ B) GHIZ C) JIIGZ D) ICIZ

‘POND’ g0 ‘RSTL' sr6itgy #5CGss @pufi e siapPenrad oGs @i e ‘HEAR g eniing

SI(LPHSUTLD.

A) GHIJ B) GHIZ C) JIGZ D) JCIZ
-



A

139,

139.

141,

141.

142,

142,

-143.

143,

32 (I

A peon told his friend, “The bell in the factory rings every 45 minutes. The last bell rang 15
minutes before. The next will ring at 3.45 p.m. “At what time the peon gave this information
to his friend ?

A) 330 p.m. B) 2.45pm. C) 230 p.m. D) 3.15 p.m.

PO A s 2 gawnent ger pesmife b, @)Es yerevuien i 45 MO FBDG 9
e geflé@ih. sevf sy 15 AOLFEDG wpaysner 9elldss. HFRHs ouiE wrene
3.454@ galld@b arepy amflenmi. Sfs NG 2 galluTai ser pewLGHEG @)Hs
aflapwgeng erggenan wenfld @ Clansrerni 7

A) 3.30p.m. B) 2.45pm. C) 230 p.m. D) 3.15p.m.

. If R is ranked second and Q is ranked fifth, which of the following must be true ?

A) S is ranked 3™ B) Tisranked 6" C) Pisranked 6" D) V is ranked 4"

- R @Quem ez Qe gile Qaisre wppih 'Q" mpsreg @B Gapsre,

Bpsasm_supiley 15 sflwnersrdms @ 2

A) ‘S wpepraig GLgHe o reng B) ‘T' gywreug @ s&sb o sireng:

C) ‘P gwraum @ sBev 2 ererg D) ‘V'newrsneugs @) sBe o eirengs

Ram is taller than Shyam but shorter than Anurag. Anurag is taller than Raghu, but shorter
than Chotu. If Raghu is taller than Ram, then who is the shortest 7

A) Shyam B) Raghu C) Anurag D) Ram

pmb ejpwinento ofl. 2. WILD ETTR HEITTHMS el GeTend. HEITE Teras el 2. WL,
e FGen@enay ol Getard. 0@, onenw alll 2 wIns @@HSTe, Wt laab
GenemoreTaut ?

A) eywmib B) rs C) samons D) gmb

Rita introduced Ram to her husband and said, “Ram brother’s father is the only son of my
grandfather”. How is Rita related to Ram ?

A) Mother B) Sister C) Niece D) Aunt

grento geit semaufl b syflgpad Qeig A, gmller gubifuilen syiun erer gnggrailpe
98y waer ereryy smpflenni. vy Quedlsd, smBpe AL ersirer o pey 7

A) smd B) #CGang C) spemsauyll eCGangdl D) sges

In a certain code language, ‘FREEDOM"’ is written as GFQDENN. How will the word
STRONGER be written in that code language ?

A) TNSSOFFQ B) TSNSOFQF C) TSSNOFFQ D) TNSSFFOQ

96 GATL @ Qurglsd ‘'FREEDOM ergyb Ganst ,GFQDENN ereirgy 2 sirengi.
SjLiugerafisy , 5Gs Gl @ Gwmfluiish, STRONGER ergyih Qaned sieraunmy @plasis
Ul GEGD ?

A) TNSSOFFQ B) TSNSOFQF

C) TSSNOFFQ D) TNSSFFOQ
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147,
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148.

148.

If “+' is written as *~', %8s+’ " as ‘s’ and ‘+"as “+’, then what will be the value of
the following equation ?
7-30 + 55X 1+9=7

A) 205 B) 206 C) 216 D) 256

- e erepub, X g * +'s1enaub, ‘g ‘%’ cremayh, - &+, aerans shasney, 8Gp

Csn@®dgisirer sier LIM19. 61 @iy eraisausmay o
7-30+5x1+9=27

A) 205 B) 206 C) 216 D) 256

If A+ B means A is the sister of B, Ax B means A is the wife of B.A + B means A s the

father of B and A - B means A is the brother of B, then which of the following expresses the
relationship that *T is the daughter of P’ 7

AYPx Q+ R+S-T B)PxQ+R-T+§
COPxQ+R+T-8 D)PxQ +«R+S+T

A + Bereirugy B 6 Britens A erenayh, AxB ﬂsiwu‘ﬁ.lﬂﬁ&'mmmnﬂAﬁmmtb.A + Bereirugy
B-gir ayiium A steneyib, A - B, Beir guni A stenayh @ s psmed, £Cyp 2_éiren s155 GG ‘P eir
waer T' e1gpih 0 penas @Pé@ih »

A)PXQ+R+S-T B)PXQ+R-T+§
OPXxQ+R+T-8 D)PxQ+R+S+T

- Looking at a portrait a man said “That man’s father is my father’s son, Brothers and sisters I

have none”. Whose portrait was the man looking at ?
A) Grand father B) Grand son C) Son D) Father

. @aillub geirenpi) g, @ welsi Glancheng * Qs ealugpe Bad@h pudear Bheng

S16 gBenguilenn waer STaNs % ibL9sBenr, FrienaaGenr Ren_wng). sresflen, Byeurt
@aGBeh Ligs o wmi o
A) srgsn B) Gupgen C) waer D) siens

20 men can dig 40 holes in 60 days. If so how many days will it take to dig 20 holes by 10 men ?

A) 30 days B) 45 days C) 60 days D) 75 days

40 gieensenar 20Gur Caitg 60 pr sefed Guim. Wb, oy Qusrprsy, 10GLF
Gariggr 20 sreneonzenar sTaieueTal HrL el Gum_gpigupp ?

A) 30 poser B) 45 g seir C) 60 pm” seir D) 75 pm” sar

What would be the most useful thing to do first of all if you see a car going at high speed,
which has just run over a child ?

A) Note down the number of the car B) Shout for the driver to stop the car

C) Hire a taxi and try to follow the car D) Inform the police and take the child to hospital
P06 Gphesden by GonBell @ 2B Causns Qragyih PGETDIL LTSS, Briser
Qeﬂwcms&uqu; UpBE pph tAseh 2 uGunsioner Qawrsh &1 2

A) anit eresmenent @556 Osnerars

B) gL @perg sneng BDpidsCeneas FdFellRged

C) aniena snfsd 2UES snens e Qgm_ s

D) sraidsmgee s Safiggall’ @ @ippensenw w@BgIal eEG TR Ocas
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149.  Arrange the following words in a meaningful sequence and then choose the most appropriate
sequence from the alternatives provided below :

1. Police 2. Punishment 3. Crime 4. Justice 5. Judgement
A) 1,2,3,4,5 B) 3,1,2.4,5 €) 3,1,4,5.2 D) 5,4.3,2,1
149. Bppdangmb Qenpaener Qungessiar eusnauiey anflenaliu @b g 5.
l. Gundev 2. seweenr 3. @pmp 4. £ 5. fidy
A) 1,2,3,4,5 B) 3,1,2,4,5 C) 3,1,4,5,2 D) 5.4,.3.2,1
150. 1/4 of a certain journey was covered at an average speed of 45 Km/hr. 1/3 at the speed of

48 Km/hr. and the remaining journey at the speed of 50 Km/hr. The average speed of the
whole journey is

A) 54 Km/hr B) 51 Km/hr C) 48 Km/hr D) 46 Km/hr
150. prer@ed @ LG LwemGens sansMuns wenld@ 45 5.8 GaagBe a1_ds (LpiguLb.

1Buwemgens wenlid@ 48 &.15 Sausg@auid, tbapsiar Livsmdens snllde S0 &8,
GausgBauth &Lds wpipuib. g uellsy Cnndgs LiwewsRair sonaf Geusih sishren 2

A) 54 @.b/wenll  B) 51 &.ubswendl  C) 48 8.5/ wenfl D) 46 &.18/wewfl

Below are given marks of two candidates P and Q in four papers each. Study these marks
and then answer the following three questions from Q.No. 151 to 153

Candidate P Paper I | Paper Il | Paper Il | Paper IV
Maximum Marks 75 100 80 70
Marks obtained 45 65 50 35
Candidate Q Paper V | Paper VI | Paper VII | Paper VIII
Maximum Marks 80 75 100 70
Marks obtained 56 44 40 42

28 P,Q ergyud @) wresauissir, prsing urL_siseflsd Qupp B G LsHTSGT yeflds LT Hererer.
@Bmis Neramb 3 Gaoralsesde (Casral sraim 151 upsed 153 auenn ) aflen wellde.

wremarn P e | grer Il | soer I | gosr IV
J}QJHJILJ
i 75 100 80 70
GupproghiGis 45 65 50 35
toremant 'Q' srer V soer VI | saer VII | sosir VI
SR s &
1oPrIG e 80 75 100 70
GILppFIG 16 56 44 40 42
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151. Considering the performance of *P’ and ‘Q’ together, who in which paper has put up the best
performance ?

A) P in paper I1 B) Q in paper V C) Pin paperI D) Q in paper VI
151. P, Q @wauder wBuiGuansemenr PUITL®, wri, s1fs un_gBe 1NsRpliuns Gg a8
Gupusirani e1emds. pia.

A) P gmar 11 &b B) Q smeir V 6 C) Pgmarlev D) Q smeir VI b

152. How is P's paperwise performance ranked best to worst ?
A) IL LI IV B) L IL 11, IV CyILILLIV D) IV, I, 11, M1
152, wm_ib aundung Pufleir w®riQusimaenen, tha SpliLinergl wpse 1hs Gionsinnens
ausngiiguib staieuny arfenswns spifi_svnih

A) L LIIL, IV B) L II, III, IV C) ILIIL 1, IV D) IV, L 11, 111

153. Considering the performance of P and Q in all the papers
A) ‘P’ has done better than *Q’ B) Q' has done better than ‘P’
C) Both have done equally well D) Itis difficult to say who is better

153. P ujtb Qayib srsbevr um_siseligyd Qupp wBiiGusraemer Faiang B Glaresm®

A) PQeoas el peitpra Qed@mafpri B) Q, P-anw i BeTpTE QFdBmaRpi

C) @@ou@mGi swions paypra D) wni peprs QediBmsRpri sren Glemsieugr

Ol s B 5 6 & ar p cwr HLY GO LD

Below is given a passage followed by several inferences. You have to examine and answer
accordingly from amongst the alternatives provided for the following 5 questions from
Q. No.154 to 158

Wind is an inexhaustible source of energy and all acrogenator can convert it into electricity. Though
not much has so far been done in this field, the survey shows that there is a vast potential for
developing wind as an alternative source of energy. The wind survey has four components, —
direction, duration, speed and distribution. On this basis U.P. hill areas have been found an ideal
place for setting up acrogenerators. In U.P. hills alone, as many as 58 sites have been identified,

88 9@ OBm_@ib BT L Hy@noTeTHISEE SyeREslLC. Hererer. @apenp uiPevenes
Qo 9ereugmin 5 Coerallnends e werssab. (Gaeral credr. 154 upged 158 auenp)

anppl, Bigg Guiangl. BewsiRnéssd sgu FEB ST ppTETIOAGLD. g
aCGongamGr’ i BerssBuna wapy R pe. Qégiopdists HBawrs WYuHH Qsdwuns
CunBguib, anppr, wrHoissRuns LustL@h Bpeiciangns syuieser spifeTpen. FApenD
upplu guiie) Freig LGHL Quingsrsenars Qe g -Pea,snew @err Ceuad, Geausib,
uRipseiiy. @aer syylue e o, . wawiu@gRaa aGrrgearGrl L isamaer
(snppledlmig Ber o pLFH Qauiuth QupBotisenar) Qurmigauspeiu Apis @) _mizenns
sl Ll Gereren. 2.9, weewsells L @b 58 @z Qafe) Gediuiiu Gererer,

e s
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154. Only the hilly areas of U.P, were surveyed for setting up acrogenerators.
A) Data inadequate B) Definitely true
C) Probably false D) Definitely false

154. snppr Ber 2 pusH GQuiBumaener B 2. 95Css werawiLigRaer @G
FemFClaB St Ll Gererer.

A) spawe SunBu seranersse B) féswions 2 swenin

C) apssmyp sauprg D) féfuwns sanmy
I55. The survey was conducted under the government of U.P.

A) Definitely true B) Probably true

C) Data inadequate D) Definitely false

155. @bs semd@as@iy 219 oygfermed Guop@ansiramtini i gngib
A) Péswcns Fif B) efluns @uéa aumiiciyeirens

C) saae Gung wnargee D) déPuions seugy

156. Wind, as a source of energy, can replace exhaustible sources of cnergy

A) Definitely false B) Probably true
C) Probably false D) Definitely true

156. Biga Gunad sugw FaBapensntisesde uPwrs anHen LAHD FEB WS
e (BlE S euimih.
A) Réswwns gap B) sflwna @aés QUTUILIL 6T
C) saupns Qs ainii'inysrens D) Résuons af

157. Energy by wind is a comparatively new emerging field.

A) Probably true B) Probably false
C) Definitely true D) Definitely false

157, snppeSmia 1 2 pUSH Oz yBusns Ganesrilugeiren SIDUITEHLD
A) siluns @wés amiilijcrens B) paupra Quée aumicisireng
C) 2 pBuns ah D) 2 piBwns geugy

158. 58 sites identified in U.P. did not have electricity.

A) Definitely true B) Data inadequate
C) Probably true D) Probably false
158. 2.197Cs0586 QaMey Qadiuiin Gerer S8 Qrrisellsd (Bersmrassd Gevi
A) Béswions &M B) gaeush Gung wrarssiev
C) sluns @upéa aindiciysreang D) sauprs @ués eumdiiiysireng
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159. Find the correct answer Dungeon : Confinement : : Asylum : ?

159.

161.

161.

162.

162.

163.

163.

. Pick the 1%, 27, 4th 5th and 6t letters of the word ‘REASONING', form yet another word

A) Refuge B) Mercy C) Truancy D) Remorse

aflwnen aflen_sow Baikg a@asad. @@L Lmp : Aenpaunsid :: Lysedi_th : 2

A) seErswelld @b B) @uésw

C) Gsmbtig@ A& D) wer senerdasd :,

and then write the 13 and the last letters of the word formed ';l-‘

A) OR B) NE C) SE D) ES

. ‘REASONING’ ersinp euniigenguiesr upged, Gramneugl, Bretsnaigl, gbsmels wphpitb

Spreug siipsgissenar 1SS b YPW suniiemgenw o BaunsE Eer e
Sipdangujib, &8 siapdenguLh siupPenes g

A) OR B) NE C) SE D) ES
Arrange the given words in the sequence in which they occur in the dictionary and then

choose the correct sequence
1. Protein 2. Problem 3. Proverb 4. Property 5. Project

A) 1,2,3,4,5 B) 2,1,4,3,5 Gy %5418 By 304,521
Rpsangmib HEAQ anTiengseer Ha&I0H wepliuy suflens i@ sseak.

1. Protein 2. Problem 3. Proverb 4. Property 5. Project

A) 1,2,3,4,5 B) 2,1,4,3,5 ) 2:5:4,1;3 D) 3:4,52:.1

In a certain code language water is written as food, food is written as tree, tree is written as
sky and sky is written as wall, then fruit is coming from where 7

A) Water B) Food C) Sky D) Tree

an 7505 Qumfluie), B 2 enrey srerayih, o ewrey LTI eTeayLh, toIth auTeTLh sTeTayLh
aumeLh seuit aTeeyh GlameiwL_meb, Lipih sTReSBES eisRns ?

A) g B) e ewey

C) eumenih D) wmb

In a ceratin code language Room is mentioned as Bed, Bed as Window, Window as Flower
and Flower as Aircondition means, you will sleep on which 7

A) Window B) Bed C) Flower D) AirCondition

9@ smBas CQumfliless senp s1eitLig LB dens sarah, UGG garars sTaTab, smeTaTe
I sTeTayLh, 1y Gefliengeiid steand GlaneL e, GBI IR 2 nEi@ ey

A) sperarad B) u@éens

C) u D) @welisngenn
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164. Your family is giving many unsatisfying reasons for not marrying the person whom you love.
What will you do ?

A) Twilllisten to my family
B) Will be in a confused state and not able to take a decision
C) Twill marry according to my wish
D) Convince my family to marry the person whom [ love
164. # Bustoesmin Oleig Qs arar Csip0s@®é @i PGS Bsoemnd Qg Qs eirendont_ng

SISTLgHETE LishGaigy Qs1iss anpemiisenar s.adG BEUBuNisns ciensuie 2 gy
GOUbLISR 6T ooy Bt cxtit srafled, f ereiren Qawranmis 2

A) GELbBUSDeri Cerpuy g jgié QamerGearsr

B) Beis ewiiusen s, YROVREs wpyung Peraudgyis DoUGusr

C) aang Qenps el g Coip Qs RésaiansGu twenmh Py 1B

D) Csii0sMdsaamgGu Loepydia BB eareny FLWEES emeudas LPwPH CladiGaucr
165. Make a meaningful sequence using the following codes.

1. Andhra Pradesh 2. Universe 3. Tirupati 4. World 5. India

A) 1,5,3,2.4 B) 2, 1.3.54 C) 3,1,5,4,2 D)5 42013
165. Bipssemm umigengsenar Quimmeir #Mifs aufenswns (.57, 773

l. i@ oGssp 2. Db 3. BBOus 4. sesn 5. @FBwr

A) 1,5,3,2,4 B) 2,1,3,5.4 C) 3,1,5,4,2 D) 5.4,2,1,3
166. “Appreciation” is related to “Reward” in the same way “Disagree” is related to

A) Crime B) Guilt C) Allegation D) Punishment

166. ‘umgn’ @ LAe e Cam_iysireng) GrLimsd ‘B STEEIL e ClgaLtijen_wgy o
A) el aCrswrer Qewsed B) @pmib
C) eppéznpy D) sein_enen
167. What should come next ?
Theft : Confess :: Fault : ?
A) Commit B) Admit
C) Dare D) Mistake

167. asfenauiis S BBS1E 615 ugGeiem@ih 9
BOLG : Gbpses eigsCane : ; Gopun@ : 7
A) o B wef B) euiyé@amsr
C) siemlieyQsmsr D) gaugy
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168.

168.

169.

170.

“Read the statement given below and select the correct answer,
Statement : The decline of British empire should have spelt the decline of English.

A) The statement is a fact

B) The statement is an opinion

C) The statement is an advice

D) The statement is a prejudice

8Cid Gan@ésul @erer sfdmamu Ly gg slurer aleraw GaihelsEssa)ib.
Sfldens : ymBelGugnsals afipsSlumeng o0 &ewsE e alpéfpd@ g CGamauth
A) sfdemswneng o amenio

B) syféenswunerg 9w A lgmuih

C) sifdmsunaig e oCansmen

D) siféerswnerg eniueiren oy iven_ e syens

- Pointing to a man on the stage, Rita said, “He is the brother of the daughter of the wife of my

husband”. How is the man on the stage related to Rita ?

A) Son B) Husband

C) Cousin D) Nephew

Aln Guen uleh g5 wellgener s yar'y, aegyen w sewasgyent_w weerafuler
wsepenLw sGangaen sen smpySprer. Guen_uigyerer oyis weflger ML raipe iy
2. peun@Ld 9

A) wadr

B) semreusr

C) sigens/wmwer/Rgsliuet/Quiluliue wasr

D) s enlpgsni waer

PATROL is related to security in the same way as Insurance is related to
A) Money B) Protection

« C) Policy D) Finance

170.

Conpgneng ungiemiy e Qe iyewg, HgGunsd sriym e s
Cgmiyen_wg ?

A) uestid B) ungiamiiy
C) amnf' @ $i'iib D) eu@eumus




